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QUESTION 1

If a Cisco ARC cluster is fully operational, how many replica copies does each shard have in addition to the leader
replica?

A 4
B.3
C.1
D.2

Correct Answer: B

QUESTION 2

Which command is used to successfully SSH into a Cisco ARC or switch CLI using a remote authentication server?
A. apic#rad_check//lusername@192.168.1.21

B. ssh apic#rad_check\\username@192.168.1.21

C. ssh apic#ad_ch?k//lusername@192.168.1.21

D. ssh apic@rad_check\\username@192.168.1.21

Correct Answer: C

QUESTION 3

During day-to-day operations, you notice that the HealthScore has decreased. What should you check first to
understand what has impacted the score?

A. faults

B. audit togs

C. events

D. accounting logs

Correct Answer: A

QUESTION 4

Refer to the exhibit Which IP address is displayed?
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admin@apicl:~> acidiag fnvread

1D Name IP Address Role State LastUpdMsgId
181 Lezf101 10.9.224,95/32 Leaf active @
192 Leafla2 19.9.224,92/32 Leaf active 2
183 Leaf183 10.9.224.91/32 Leaf active e
184 Leafie4 19.8.224.9@/32 Leaf active a
281 S5pine2@l 10.0.224.94/32 Spine active e
202 Spine202 19.0.224,93/32 Spine active 2

Total 6 nodes

A. infrastructure IP
B. out-of-band IP
C. management IP
D. in-band IP

Correct Answer: D

QUESTION 5
Refer to the exhibit

F16438[FSM:STAGE:FAILED]: Establish connection Stage: comp/prov-VMware/ ctrir-[RTPACILab]-TestVcenter Failed
to retrieve ServiceContent from the vCenter server 10.122.253.152(FSMSTAGE:ifc:vmmmgr:CompCtrirAdd:Connect)

F16438[ FSM:STAGE: FAILED]: Establish connection Stage: comp/prov-
VMware/ ctrlr-[RTPACILab]-TestVcenter Failed to retrieve ServiceContent
from the vCenter server 10.122.253.152(FSM-
STAGE :ifc:vmmmgr:CompCtrlrAdd:Connect)

Which option is a potential reason why you would see this output while provisioning a DVS?

A. The specified data center does not exist on the vCenter m question.

B. The Cisco APIC(s) cannot reach the vCenter host/vm.

C. The Service Content process has crashed.

D. Cisco Discovery Protocol is disabled on the vswitch policy tied to the corresponding AAEP.

Correct Answer: A
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